
SAP ABAP table T5D0P {Plant/Personnel Subarea (D)}

T5D0P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

KISTG [CHAR (2)]

GMDNR [NUMC (8)]

FZAMT [NUMC (4)]

T000

MANDT [CLNT (3)] T5D0P-MANDT = T000-MANDT 0..N

1

T001P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]
 T5D0P-WERKS = T001P-WERKS 1

1 T5D2A

FZAMT [NUMC (4)]

 T5D0P-FZAMT = T5D2A-FZAMT 
0..N{0,1}

T5D2B

GMDNR [NUMC (8)]

 T5D0P-GMDNR = T5D2B-GMDNR 

0..N

1

T5D2L

MANDT [CLNT (3)]

BRDLD [CHAR (2)]

 T5D0P-KISTG = T5D2L-BRDLD 

0..N

1


